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. (a) Tilling of soil

(b) Singing a song before frien s
(¢) Preventing a child from falling into 4 e

(d) Painting a picture for pleasyre on the roag

2, Identify the correct statement.
(a) Theaverage product is at jts maximum
(b) Thelaw of increasing returns to scale r
(c) Economies of scale arise only because

: of invisibilities of factor proportions
(d) Internal economies of scale can accry

e only to the expaorting sector
3. Which of the following is not a characteristic of land?

(a) Its supply for the economy is limited .
(b) Itisimmobile

(c) Its usefulness depends on human efforts
(d) Itis produced by our forefathers

4 Which of the following statement is true?

@) Accumulation of capital depends solely on income
(b) Savings can also be affected by the State

(c) External economies go with size and internal economies with location
(d) The supply curve of labour is an .upward slopping curve

except
> In the production of wheat, all of the following are variable factors that are used by the farmer
e ——

@ the seed and fertilizer used when the crop i.s Plarft;dthe HE b d
®) the field that has been cleared of trees and in dw};llct. ting not only wheat but also Com and barley
) the tractor used by the farmer in planting and cultiva

y the farm

ies with
i fields internal econom
o s hat the farmer spends in cultivating the wheat fi€
€ number of hours that the
locati()n

(e)

i curve
/5 The Supply curve of labour is an upward slopping

i ibed as ——
l (a) Marginal product of a variable input is best iy

. input
its of variable PP iable input
b) tota] product divided by the number of uni in the varia e

; fixed inputs
_unit increasé jable and . =t that
(¢) ¢ additional output resulting o1 8 OFF ::,rllit increase in both the var at of the fixed inp4
¢ . one-
€ additional output resulting from 2
@) i

: ing useé
. ut that is being
%8 satio of the amount of the variable input

TN beins used s g marginal c:;tzosts
:;muﬁshing marginal returns implies —— 4 g:g:asin average X
(¢) i.iecuiﬁing average variable costs (d)

- €@sing marginal costs




is characterized by ;

8. The short run, as economists use the phrase, : 49 2. |
(a) atleastone fixed factor of production and firms 1 either leaving nor €NETing the ing Ustry | wh
(b) aperiod where the law of diminishing returns does not hold 14 e
() no variable inputs = that is all of the factors of production are fixed S
(d) all inputs being variable 15. »
9. The marginal, average and total product curves encountered by the firm producing in g,
exhibit all of the following relationships except ; : shop, 16 Whs
(a) when total product is rising, average and marginal product may be either rising or fallis e
(b) when marginal product is negatiyé, total product and average product are falling f 17. Whi
() when average product is at a maximum, mar inal product equals av =
is rising Sk q erage product and tor;] Do (0 :
(d) when marginal product is at a maximum ‘ : 18. Whic
is rising P AEREER roduct equals e glnal product and tot;] DI ' (a) :
10. To economists, the main differe () ¢
(2) in the short run, all inputs :;e:; t;veeil';h eshort runand the long run is that ____ 19. Total
. td e A ¥ 0 3 »
(b) in the short run, the firm varies all o;'”'t -e in the long run all inputs are variable varial
O et e i f l.nputs to find the least cost combination of inputs (@ C
(d) in the long run, the firm i alfmrms input levels is fixed (c) L
: > is makir ]
_eqmpment eﬁiCjenﬂy g a constrained decision about how to use existing plar'? 20. In the
11. Whi S - i
’ ch of the following is the best definiti « ga) .
(@) The relationship between market pri on of the “production function”? <) re
®) The relationship between the ﬁ:t price and quantity supplied ' 21 Which
(c) The relationship betw, ms total revenue and the co @ Ic
(d) The it between the quantities of inputs need d st of production (© Ay
een thy : ed to .
12. The “law of diminishin E qu?'nut}' of inputs and the g P I'Oduc? a given level of output 2. The co
(a) the short run, g returns” applies to s marginal cost of productio” (a)
W, ut not the long rup TN (©) rea
g r lln, but nOt th R
(c) both the short pyy e short run - With 1y;
(d) neither the short r::i thiliong run ((i)) Vo
13. Diminishj or the long r 2
ishing returns ocey g run 24 whxc(l)lp;
(a) Whg

l"i()urs

Labour
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what I8 the total output when 2 houyy o labour gre
t ) 80 () 100 Cmployey
» ' . (c) 180
what 18 the marginal product of the thiyg hour of Lty (d) 200
e B s & (€) 100
" shy o What is the average product of the first thyee hours of Lty @) 240
e ' l ‘ I
N A oy (©) 100 .
0 which cost increases continuously with the (d) 240

i A \\‘
e ncrease in production?
@) Average cos

() Fixed cost (b) Marginal cost

. (d) Variable cost
 Which of the following cost curves is never ‘\’ shaped?

tal Prodyg (a) Average Cos_t curv-e (b) Marginal cost curve
(o) Average variable cost curve (d) Average fixed cost curve

19, Total cost in the short run is classified into fixed costs and variable costs. Which one of the following is a
variable cost? :

(a) Cost of raw materials

- () Interest payment on past borrowings

(b) Cost of equipment
(d) Payment of rent on building

2. Inthe short run, when the output of a firm increases, its average fixed cost
g plant and A
(a) increases

(c) remains constant

(b) decreases
(d) first declines and then rises

1L Which one of the following is also known as planning curve?

@) Long run average cost curve (b) Short-run average cost curve
(© Average variable cost curve (d) Average total cost curve
put 2. The cost of one thing in terms of the alternative given up is knf)w;vln ast
- () producti (b) physical cos
n ction cost .
P (c) real cost (d) opportunity cost
i lated?
5 With which of the following is the concept of margm(;‘;)w:f clzse(l));tre e
(@) Vari ixed c
(©) ();r;?rl;l;?:; . (d) Economic cost

z")hich of the following statements is correct?
a

(b When the average cost is rising, the margin :

) When the average cost is rising, the marginal cos !
i? When the average cost is rising, the margi'nal COSttI:n 4
13 ) When the average cost is falling, the marginal oS

 Which w,enlicit cost ¢
of th S f an “explic
) e following is an example 0 ¢ by working a5 an

(b) . ‘,Nages a proprietor could have madd in alternative Use
(o) €income that could have been €arne :

() The Payment of wages by the firm
5, ¢ ormal profit earned by a firm

» 'on

iC «s hclt COSt ? ﬁ m to f‘mance CXPanﬂ
&) " of the following is an example of 27 unl;ined carnings used BY thfl r
(b) “Ierest tha could have been earned 0P oot it is house

A3 in wthh
p The Payment of rent by the firm for e :uﬂfiil:s porrowed from a bank
{ 5 intel'est deb the firm for .
N ¢St payment made y

=SS

al cost must also be rising
must be falling
above the average cost

t be rising

e of a large firm

employe
s by the resources owned by the firm

|

A - Liem
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Use the following data to answer questions 27-29.

Total Cost
240
410

Output

I

iy
Ui

540

O\ Ut [ NH‘O

's
i
!
4
i
|
{
i
i
{
!

L SR & vy

27. The average fixed cost of 2 units of output'is
(a) X80 (b)X 85

28. The marginal cost of the sixth unit of output ié
(a) X133 ®)X 75

29. Diminishing marginal returns starts to
(@) 2and3 (b) 3and4

30. Marginal cost is defined as e ST
(a) the change in total cost dye toaone
(b) total cost divided by output

(c) the change in output due to a one un,
(d) total product divided by the quantity of inpuyt
31. Which of the followi

(c) %80

occur between units

unit Change in output

(a) IfMCis greater than ATC, then ATC is falling
(b) The ATC curve intersects the MC curve at Minimyp, McC
(c) The MC curve intersects the ATC curve at minimyp, ATC
(d) IfMC is less than ATC, then ATC is increasing
32. Which of the following statements is true of th
(a) ATC=AFC- AVC
(c) AFC= ATC + AVC

(dl AFC =
33. Which of the following is not a determinant of the fir

m’s cost
(a) The production function (b) lee
(c) Taxes

(d) The
34. Which of the following statements is correct concerpj

function?
(a) TC=TFC-TVC
(c) TEC=TC~TVC

ng the

d) Tc

35, Suppose output increases in the short run. Total cost will
(a)
(b)
(c)
(d)

increase due to an increase in fixed costs only

increase due to an increase in varlab"le costs only' -

i . due to an increase in both fixed and. vgrxab € costs
v if the firm is in the region of diminishing returns
decrease i

(o 120

(c) 4ands

is true of the relationship between the marginal cost
cos

Price of
Pric

(b) ’FVC = 'I\F
= '[‘VL

(d) ¥ 205

(d) T 450

it change inan input -

aboyy
€ of the firms output
re]

Ak 3 &
\TPC

(d) 5andé6

. - ':'_‘.‘
atlonships among the firm’

|

;‘
F 4
}

(d) The incre

38, The positively
following?

(@ Diseconor

(b) Diminishi

() Thefirmb

(d) The increa

3. A firmy’s average

i Producing the 6

3 @ 20

|

) =) _
function and the averd} :fﬁrm e ofiucm



ich of the following statements concerning the
: Z@‘ Wh 1t m;;ﬁ?$¢3\1$ “\(? k‘f{\ﬁt <O
O

Stinput combinaty

long rup AVerage cost curve
{t is derived “from a series of
() *8

on for Producing eachy leve
Crage cos Curvey
mintmugm point of the
s of output

output increases, the amount of capita] ¢
(d) Asoutputincreases, o i

firm increages along the
f ively sloped (e, falling) part of the long-tun average
: tively slog
4 he negatively
- fo“\“‘v’ing? Sy P 1‘\
@) Diseconomies of scale
g e iy
o Diminishing returns

is falset

Lof outpuy
short.ruy av

Th(? Shnﬂ*ﬂm g S‘ut‘\'t‘ at the lung~nn\ n\»(\n\m‘ CO8t cuprve reprasenty the
@ l ast cost plant size for all level
east €0

mployed by the N

total cost curve is due to which of the

‘he difficulties encountered in coordinating the many activities of a large firm
© "Gl t‘ :ti§re&se in productivity that results from specialization | |
(‘ie ':;tively sloped (i.e., rising) part of the long run average total cost curve Is due to which o the
4 }bllawing? :
(1) Diseconomies of scale
(5) Diminishing returns

chniques as it expands its output
ble to take advantage of large-scale production techniques as it exp
() The firm being uble to take st
. ase in productivity that results from specialization
(d) Theinc

b L 6 N1 t t. llt. h m g 1
R A ﬁ g

1) T420
(b) 120 : (c) ¥320 (d)
@) Y20 A

‘ A 4 \S (O I\ vl ) D 1S (¥ b

o
petion’’

N

the

: ~reates matter
\ W e, he crea
] @ hen a man creates a tabl
ﬁ!“‘*l*

f costs?
al cost 1s made up of variable cos
ot. How much of the average total cost s 1(1;&)\; ¢ 1;:00
of production whether it prod\xc;; gr not. riea o
o (b)f 000 at 5 units of output. If fixed costs are \
cost of X 1000 a
4L A firm has a variablei COS i
total costat 5 units of outputs

(d) 1400
(c) X120 of output?
0 e ¢ at 4 units of outy
1y 360 L 6 units of output. What will it be a (d) Y20
£ A firms average fixed cost is ¥ 23 ;\(‘) () X40
\ b)
W) 60 (

5 is true?
% Which of the following statements is t;d:red iantion
@) The services of a doctor are cons

, tion
() Man can create matter e d productic
(©) The services of a housew

- entrepreneur?
. Which of th following is a function of an entre
- of the

sk bearing
(b) Ris pve
ise R ARAS -
x BRG S guisror run s best describ‘fq g oW
% Bnovsting logy, the short rui to five years from xi ut is fixed
S roduction technology, (b) uP ™ U at least one 1P
I de&cribinga given produc (d) aslong a8 © b1 SR e
(% s oo iro;?eﬂg):‘;d if all inputs ar¢ {ncreased by
|, Wlong as all inputs then 1
| % yq

S¢ ’ltg
SCreasing returns to scale aré %:231
y Output will also decrease b‘;’) ‘
® Output will increase by 10
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(c) output will increase by les§ th;narllol‘)g%

(d) output will increase by more . Gt el
47. The prodﬁdtion function is a relf\tlonilllnp g5

(2) another combination that yields the s

(b) the highest resulting output

(c) the increase in output generated by Zted e
' ner

(d) all levels of output that can be ge ge product of labour, it must be trye that

AL

given combination of inputs and

ne unit increase in one output

is below the avera
_~"48. 1f the marginal product of labour is belo

' (c)
(a) the marginal product of labour %s negative X
(b) the marginal product of labou.r is zero | v
(¢) the average product of labour fs fallmg
(d) the average product of labour is negative . s )
49. The average product of labour is maximized.when marginal I;ll'oduct of labo ©
(2) equals the average product of labour (b) equals fz‘:;z 9 ‘ ”
(c) is maximized (d) none o | | el
50. The law of variable proportions is drawn under all of the assumptions mentioned below except @
: assumption that ) , . ©
f (2) the technology is changing ‘ Sl
: (b). there must be some inputs whose quantity is kept fixed (@) s
1 ) ‘e consider only physical inputs and not economically profitability in monetary terms () a
(d) the technology is given and stable

~ 60. In the
g >1. What is a production process? '

and variable factors of production (€) at

(c) Relatlonshlp between a factor of Production and the utility created by it J @) ar

(d) Relationship between quantity of output produced and time taken to produce the output 81 A"erag

52 i‘a)ws of production does not inclyde (a) tog

a) ref - :

(©) hmi:;i:;tepmporﬁ s (b) law of diminishing returns to a f‘ac“’f | ((b) tot

53. Identify the fixeq cost from the follguws (d) least cost combination of factors ) tot

(a) labour cost e OWwing i (d) ma

(c) salary of watchmgy (b) electricity bill / R T, cha

54. Which of the f0110wing i$ not an *sumptio cost of raw materials i ((a) ave,

() Only one factor js Sariable D of the lawy of variable proportions? P & © Mmar

(b) Technique of Production y, €maing Constap f (T)"'Sina]

(c) Proportion of factors of Productigy, . ; f (o) totg]

(d) Units of variable factor are homogeueous NS same, ! 64, Sup mar!

25. Which of the following statement jg Correcty ‘ % Th el::::: t

(a) Supply of land is perfectly elagtic. 8§ (@) 50 8
(b) Fertility of land cannot change, ] T’he lay,

(¢) Land does not yield any result unless humgy, efforgg Q M 8

+(D Supply of land can be incre Are employed,

ase,
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56. The production process described below exhibit
its

Number of Workers

Output

(a) constant marginal product of laboyr
(c) increasing return to scale

EB; .diminishing marginal product of labour
: ki Increasing marginal prod
57. Which of the following is a variable cost in the short incw. 1 1 ' g

run?
(2) Rent of the factory. :
(b) Wages paid to the factory labour.

(c) Interest payments on borrowed financial capital,
(d) Payment on the lease for factory equipment.

58. The efficient scale of production is the quantity of output that minimizes
(a) average fixed cost

(b) average total cost
(c) average variable cost

(d) marginal cost
59. If marginal cost equals average total cost, »
(2) average total cost is falling (b) average total cost is rising
(c) average total cost is maximized (d) average total cost is minimized
60. In the long run, :
() all inputs are fixed
(b) all inputs are variable
() atleast one input is variable and one input is fixed

(d) at most one input is variable and one input is fixed

L. Average product is defined as
(@) total product divided by the total cost
() total product divided by marginal product
(©) total product divided by the variable input
(@ marginal product divided by the variable input N
2. The change in the total product resulting from a change in a variable input s

duct
(a) Sy (b) average pro
ge cost d) marginal product
(c) marginal cost @ g

. ¢
3, Margina] product, mathematically, is the slope of the( nge oty
:) :tatlgri’r:ldua; ur:’ eurve (d) implicit product curve
product ¢

£200, 350, 450, 500.

ing total outputs 0
. S“Ppose the first four units of a variable input gé.merate corresponding
€ marginal product of the third unit of input is /1 50 (d) 200

hat marginal return ¢

tuall diminish .
(b) even dirr):inish before increasing

8) :
The Jay of diminishing marginal returns indicates t
2 always diminish

: d) never
&) always diminish before increasing ()
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66. Diminishing marginal returns for the first four units of a variable input is exhibited by the tota]

Prody, 77 which on¢

sequence ‘ ‘ i Land

(@) 50, 50, 50, 50 (b) 50,110, 180, 260 : (2) e

(c) 50,100, 150, 200 (d) 50,90, 120, 140 (b) -

67. If marginal product is equal to average product, then . . ' © it
(a) marginal product is increasing (b) marginal pr oduc‘t is decr S (d)

(c) average product is decreasing (d) average product is not changing 78, Which one

68. In the third of the three stages of production . (a) Landh

(a) the marginal product curve has a positive slope (b) Labou

(b) the marginal product curve lies completely below the average product curve (c) Riskin

(c) total product increases : ‘ (d) The suj

(d) marginal product is positive 79 Nfargmal co

69. When marginal cost are below average total costs . (@) total co

- (a) average fixed costsarerising = (b) average total costs are falling : (€) variable
e (c) average total costs are rising (d)" average total costs are minimized 80. Which of the
. 70. Ifthe average cost is falling, then : ; ' (a) Fixed cc

(2) marginal cost is rising - (b) If we ad

(b) marginal cost is falling () Margina

(c) marginal cost is equal to average cost

(d) Total cos
(@) vit is impossible to tell if marginal cost is rising or falling 81. Which of the
71. In the long run, if a very small factory were to expand its scale of operations, it is likely that it woul (@ The LAC
mltla]ly-expener{ce . » ®) Tota] Re
(2) anincrease in pollution level (b) diseconomies of scale © o
(c) economies of scale (d) constant returns to scale @ prportm
72. The difference between average total cost and average variable cost h %2 1y total re
() is constant (b) is total fixed cost ' ( € average py
(c) gets narrow as output decreases (d) is the average fixed cost - a) AC and T
73. In the long run, some firms will exit the market if the price of the good offered for sale is less than — X (Rectang‘llar hy
(a) marginal revenue () marginal cost ) TpC
(c) average total cost (d) average revenue , . fone unit of I,
74. The marginal cost for a firm of producing the 9th unit of output i elev “Apita] o;
is X 20. t at the sam . Vi
output is T 15. Which of the following must be true? Pl E ataerage canta then ilise a4<(:)£
(2) Marginal cost and average cost are both falling. (‘ COnstant re;
(b) Marginal cost and average cost are both rising, A N T €asing |
(c) Marginal cost is rising and average cost is falling, ('\ € Vertic al diff;
(d) It is impossible to tell if either of the curves are rising or falling_ e 3) Mc €
75. Labour is defined as ; > .The la
r W of =
3 : (@) Varigh
(a) any work done without remuneration : ‘ ere
(b) any exertion of mind or body to get some reward R ®) b Ste on}
(c) helping the mother 4 R (9 = is a fixe
(d) helping the friends ) ag"fs are
76. The most important function of an entrepreneur is to : R het
‘(a) ipnovate (b) bear the sense of responsibility Wa:e:n imp];
~\¢) hnance (d) earn profit Inter tOf the ]
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| theory of Production and Cost
pl‘Qd“
U1 ;. Which one of the following is correct?
(a) Land is produced by man’s efforts
(b) The supply of land is not constant
(c) Capital is not result of savings,
d) Capital refers to th
(d) . e produced means of production,
78, Which one of the following is incorrect?
Land has origi i ;
(a) iginal and indestructible powers to produce
(b) Labour has poor bargaining power, ol
(c) Riskin a business concern can be insured.
(d) The supply of land is not constant.
79. Nfarginal cost change due to changes in
(a) total cost ' ®
(c) variable cost - ' . ) agerage A%
d . (d) quantity of output
80. Which of the following statements is correct?
(a) Fixed costs vary with change in output.
(b) If we add total variable cost and fixed cost we get the average cost.
(c) Marginal cost is the re;tﬂt of total cost divided by number of units produced.
| (d) Total cost is obtained by adding up the fixed cost and total variable cost.
81. Which of the following statements is incorrect? :
ly h’xat it would (a) The LAC curve is also called the planning curve of a firm.
: (b) Total Revenue = Price Per Unit X Number of Units Sold.
(c) Opportunity cost is also called alternative cost. -
(d) Iftotal revenue is dived by the number of units sold we get marginal revenue.
82. The average profit is equal to the difference between
83. Rectan s i f .
gular hyperbola is the shape 0
Jess th?° (a) TFC ' - (b) AFC (T VR
S 84, I : .1 oive 200 units of output, two units of labour and two units of
. If one unit of labour and one unit of capital give dh i O e "
evclw :gpital give 400 units of output and 5 units of labour and five units of capital give 1000 units o output,
A
» aﬂ‘el ‘ : nthisisacaseof - (b) increasing returns to scale
e 3) constant returns to scale (d) none of these
{ () decreasing returns to scale
85, 2 i 1t . '
The vertical difference between TVC and TC is equal t0 s (d) none of these
@) Mc (b) AVC fel
8 ; i
6. The law OfVal‘iable proportions come lntO belng When
(@) there are only two variable factors
() there is a fixed factor and 2 variable factor
(©) all factors are variable
5 @ variable factors yield less
7, : ; @
‘ m is an implicit cost of production:. (b) Charges for electricity
Wages of the labour (d) Payment for raw material

‘: , 5) Interest on owned money CaPital
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88. Bozzds burgers are a small restauraly
and costs in Rupees.

: i

ML S — e
If burgers sell for Z 14 each, what is Bozzd's profit maxﬂm;gnim : rgpeng
(a) 10 burgers (b) 40 burgers () 50busges il P
89. What is the total variable cost when 60 burgers are produced? i
(a) T690 (b) %960 (c) T110 @) T49
90. What is average fixed cost when 20 burgers are produced? e
(a) Z5 (b) Z3.33 (c) Z10 d T25
91. Between 10 to 20 burgers, what is the marginal cost (per burger)? \
(@) T11 (b) %13 (c) Z14 d) %9

Use Table to answer questions 92 to 93.

Hours of Total Marginal
Labour Output Product

— !

92. What is the total output when 2 hours of laboh.r are employed?

(@) 160 (b) 200 (©) 360 (d) 499
93. What is the marginal product of the third hour labouy?
8 120 (b) 160 (c) 200 @ 489

94. The law of diminishing returns

(a) states that beyond some level of a variable inmur <. | e
increase steadily variable input, the average product of that variable 7

(b) assumes that there is technological improvement over time

! (c) states that beyond some level of 4 variable inout } ;aﬂi“f’
‘, decrease steadily 1nput, the marginal product of that ¥#
(d) informs a firm whether or not to yse g factor inpug f
; 95, When ______the firms must be produci o i i
is productive efficiency, producing at the minimum poing of the average cost "

(a) AC= AR

(¢) 'MC = MR (b) MC = Ac

(d) AR = MR
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96, SuPPOS
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¢ that a sole proprietorshj

P is earnjng ¢
of € 90,000. If the owner could work for aio(:;al e 120,000 a
er ¢ 4

disi ; s
; Om ncurrin
ot ——— | Pany for % 50,009 a year, we wg eﬁ)hcxt costs
0 the firm is incurring an economjc loss ) ould conclude

0 implicit costs are X 90,000
© the total economic costs are ¥ 100,000

@ the individual is earning an economic profit of ¥ 25 000

‘ / Use Table to answer questions 97 to 98,

Hours of Marginal
Labour Product

.

- i

2%

1. What is the total output when 2 hours of labour are employed?

@) 160 "~ (b) 200 (c) 360 - (@ 50
% What is the marginal product of the third hour of labour? pIVE

o (b) 160 (200
%, All of the foﬂbwing are U shaped curves except the —(b—)—ZF T

(a) AVC curve ( d) MC curve

() AC curve & . : them will you consider

\ \ te which among them Wil y!

lm_ The following are some of the COStS Ofa CIOth}g n‘lanllfactlll' e?. State wi

#fixed cost?

(@) Cost of cloth.
b) Piece wages paid to workers. -
©) Depreciation on machines owing t0 e

@) Cost of electricity for running machines-
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ANSWERS WITH
DETAILED REASONING

Note: In CA FOUNDATION exam, there is no need
to give reasons. These reasons are given only
for the understanding of the students.

Ans. 1 (a)

Since tilling of soil is an economic activity.

Ans. 2(a)

When AP is maximum, then MP =AP, or say MP
curve cuts the AP curve at its maximum point.

Anms. 3 (d)

Land is free gift of nature. It js not produced by
our forefathers.

Ans. 4(b)

Since government also €arn income, it can alsg
effect savings.

Ans, S(b)»

Land is a fixed factor

as it cannot be changed
with leve] of output. o

entering the industry, g,
proportion is applicable short

Ans. 9 (d)
The firm producin

Period,

g in the short run will not

Mmarging] Product is at a
maximum, average Product €quals marginal

duct jg rising,

Ans. 10 (¢)

The short run, as economists yg,
is characterized by at least one
of production and firmg neither
entering the industry, Remember]
proportion is applicable in short period,

Ans. 11 (c)
The best definition of the production funy,

€ Phry,

is “the relationship between the quantis &
of inputs needed to produce a given level ¢ ‘

output”.

Ans. 12 (a)

The “law of diminishing returns’is a part

law of variable proportion which applies to i
short run, but not the long run.

Ans. 13 (b)

- Diminishing returns (stage-II) occur “hff‘
units of a variable input are added to a fix¢ .
input and MP falls.

Ans. 14 (c)
100 + 80 = 180

Hmus of » Margi nal
X ;
Labour Produc

180 (100 +80) | :

Ans, 15 (a)
3 240" 18()::60

Ans. 16 (b)

T .
s, . T
Hours of Labouf

_ 240 _go
s

Ieaving )
AW of vari,




Inctiop
antities
level of

part of
s to the

e whet

|

s 17(d)

Variable costs are direcﬂy relateq v
level of production, Thus, wigy ot Viwt
Ncre

in the level of production Variable
increases. '€ Cost g

Ans. 18 (d)
With increase in

falls.

Ans. 19 (a)

Cost of raw materia] ch
level of output.

Ans. 20 (b)

In the short run, when the o
increases, its ARC decreases,

Ans, 21 (a)

LAC is also known as planning curve because
a firm plans to produce any output in the
long run by choosing a plant on the long run

average cost curve corresponding to the given
output, :

s 22(q)

The cost of one thing in terms of the alternative
8iven up is known a opportunity cost.

A-Ds, 23 (a)

Mc depends upon TC and TC changes with
hanges in VC. ;

s 24 (o)

In the relationship between AC andMC when
AC is rising, the MC is above the AC.

Here (a) is also correct.
. -+ 25 (c)

Explic cost is the payment made to the externa:_
fectorg of production. Hence, the payment ©
“ages by the firm is an explicit cost.

26 (a)

ImpliCit cost is the cost of self supplied faCf’Or s
z Production, Hence, interest that could h:l::
8N earneg on retained earnings used by
B bansion is implicit cost:

h the
ase
Iso

Productiop, AFC alwaysg
anges with change i

utput of a firm

The above tabe is short

the above table, AFC 4t 2 units of output s 120
(240/2)
Ans. 28 (c)
In the above table, MC at 6 unit s
690 — 610 = 80.
Ans. 29 (c)

When diminishing marginal returns start in
stage-II under law of variable proportion, then
MC increases and here MC increase from 60 to
70 at the output 4 and 5 unijts.

Ans. 30 (a)

Marginal cost is defined as the change in total
cost due to a one unit change in output.

Ans. 31 (c)
When AC is minimum, then MC = AC. In
other words, MC curve cut to AC curve at its
minimum point.

Ans. 32(d) ‘
' ATC = AFC + AVC; hence, AFC = ATC— AVC.

Ans. 33 (d) i
The price of the firms output i no
determinant of the firm’s cost functions.

Ans. 34 (¢)
Total Fixed Cost =
Cost.

Total Cost — Total Variable

Ans. 35 (b)
In short run, only v
fixed cost remains the same.

ariable cost increase and

3.31

run cost table and in




Ans. 36 (c)

The statement ‘the short-run cost curve at llu;:
minimum point of the long-run nvemg? c.,m;l.
curve represents the least cost plant size for a

levels of output’ is not correct.

Ans. 37 (d)

specialization.
Ans. 38 (a)

cost curve is due to diseconomies of scale.
Ans. 39 (d)
TC=ACxQ
ACx Q =TC MC
300x 5 = 1500 -
320 x 6‘ =1920 420
Ans. 40 (d)
AVC = AC- ARC
150 - 50* =¥ 100
*AFC = FC/units
350/7 = 50
Ans. 4] (a)
ATC = AFC + AVC
280 =200 + 80
Ans. 42 (b)
FC=AFC*Q
120 = 20%6
AFC at 4 units of output

FC/Q = 120/4 = 3¢
Ans, 43 (a)
The statement that the services of a doctor are
ONSldered Production i £ orrect,

In the long run, firm achieve sl)?cinliﬂntion;
hence, the negatively sloped (i.e., falling) part
of the long-run average total cost curve is due
to the increase in productivity that results from

In the long run, economies turns into
diseconomies; hence, the positively sloped
(i.e., rising) part of the long run average total

g

Ans, 44 (d)

An entrepreneur han (o |pj
enterprise, bear the rigk
products.

Hate Iy
i ity

Ans. 45 (d)

In the short period, one factoy

F ﬁl’nam”
and the other is variable,

Ans. 46 (c)

In case of decreasing retirng
increases less than the chan
inputs are increased by 10%
increase by less than 10%,

Ans. 47 (b)

ge in input If;
, then Outpyt 4

between a given combination of inputs ané
highest resulting output.

Ans. 48 (¢)

If the marginal Product of labour is below "
average product of labour, it must be true &
 the average product of labour is falling

Ans. 49 (a)

The AP of labour js maximized when M
labour equals the AP of labour.
Ans. 50 (a)

In the law of Proportion, the assumption 5
the technology does not change.
Ans, 51 (a)

Production
relationshjp b

Ans, 52 (d)

. is ¥
Process (function)
€tween input & output.

Law of Production does not include **°
Combinatiop of factors.
Ans, 53 (c)

i
e
Salar y of Watchman is example of th
Cost.

Ans. 54 (c) M
Proportion of factors of produfn"‘" reﬂﬂ’ 4
Same js g assumption of the law



Ans. 55 (c)

Land does eld (hrod. Ans. 06 (4
unless humap, e, il

) anyip,
ortg a hg  § 2" ‘ y
statement, " Mployed “Orrect iﬁ;}'d' - ){}}; 20,10 10 14 949, 39, 39
e "Wivishing o - Y e
. h* 8t ging] e g f""')’; V/’ law o dmw)w;ing
Ans. 56 (b) 4 et Wply here
2 ﬂ Ans, 67 (4)
Ans, gy (b)
decreaﬁe, YO we ez say MP ~ pp
Ans, 69 (b)
L When MC < 41, 41 curve is falling i
3:: Ans. 57 (p) Ans. 70 (d)
il Wages is an xample of variable ¢ WACs faling, ther MC may be “ising, falling
- orequaImAC,soztmimpouﬂﬂctoteﬂﬂn
. 58 (b) MCis falling or rising =4
The efficient output point js that point where Ans, 71 (¢) -
Average Ty is minis A { :
‘ age otalCost(ATC)xsmnmum Intbelongrun, Yy mdmmmg
¥ Anc.59(d) returnstoscakappl);socostdw:&sesmd
: When Mc - ATC, the ATC js minimqm economics of scale ariges,
because MC cuts (equal) to ATC I Ane 7200
,d 4 minimum point, ATC = AFC + AVC, s0 ATC — AFC= AvC,
.| A 60 (p) e and can  ANS 73 (c)
In the long run, all inputs are variable In the long run if P < ATC, then some firms
~ be changed in same proportion, will exit the market, and in the short rug
A 4&;51 (© P<AVC,!§)¢numeﬁrmuriﬂtxﬁﬁcm
) TP Ans. 74 (b)
APw=. » i 15, and if MC > AC, then
ut (Labour) MC is 20 and AC is 15,
‘M Variable Input ( MC & AC are both raigs
/ .62 ) Ans. 75 (b) :
; MpP._ P Lgbou]hd@ﬁﬂ@d““)’?hmww
% Variable Input (Labour ) work 10 get some reward.
Ang, 63 (a) Ans. 76 (b) 2
MP is the slope of TP curve. Bear the sense of responsibility’ reflects ‘risk
A 64,

bearing' capacity and it is most important
100 funcuion of an entrepreneur.

} ~ 350 = 2

il be 450 Ans. 77 (d)

. ton which
Aapital consists that part of production
Lwas&mm Other ame Incorvect.

mﬂ'ﬂ‘”“ yetiariis,

digninishing diminish (always

& ¥ I W‘”‘Muy
in 2nd stage).




No of units
Ans. 78 (d) (Capital + Laboutr)

Supply & lend are inela

stic.

Ans. 79 (c) .
In the short run, MC change due to change 11

VC because MC = A TVC/ AQ

Since both the fixeq and

s d ; e - :
G Mem uvdnn + TVC, other are incorrect. MHM»HM Nwﬁm :_m %:MMM m: MH MMN_MO Ff
Ans. 81 (d) . ¢ ® > MM“M»E, thus there o nosﬁwmmv MM“_“%..
M %ﬂmﬂ. R Number of Units Sold Xie. 8500 |
Ans. 82 (c) TFC = TC - TVC
The average profit is equal to the difference  Ans. 86 (b) :

between AC and AR, it is also called super The law of variable

] Proportion "
profits. change in output when ope mmnmsxm _m___w;
Ans. 83 (b) constant while the other factors are OEM
Rectangular hyperbola is the shape of AFC Thus, there should be at least one fixed fy

in which at every points TFC remain the while others may be variable.

same.

Ans. 84 (a)

Ans. 87 (c)

Implicit cost is the cost of self supplied @ng‘
of production. Hence, interest on o
money capital is implicit cost.

No of units

(Capital + Labou
0 Ans. 88 (b)
1+1 200 _ 200 Profit maximization condition MR= MG
2+2 400 200 Marginal Cost (14) = Marginal Revenue !

Quantity  Total Cost Average

Variable Cost

Average
Cost

Fixed Cost  Variable Cost Marg

[

e

fer t0 the table in answer 64.
e

90 (a)
TFC
\\ﬂu\a&\numl

i z:a_umn (o)

(d

r to the table in answer 65.

ATC _300-210
@ 20-10

Ans. 92 (©)
200+ 160 = 360

Hours of Total Output Marginal
Labour
i 200 200 |
2 360 (200 + 160) 160 |
B 480 120 (480 - 360) |
Ans, 93 (a)
480 - 360 = 120
Ans, 94 (c)

The law of diminishing returns states that
beyond some level of a variable input, the
marginal product of that variable begins to
decrease steadily.

. 95 ()

MC intersects AC at its lowest point. S0
When MC = AC, we know that the firms

must Prodyce 4t the m
average cost cy
mmmcmsﬂﬁ

inimum point of the
Ive, and so there a productive

Ans, 9¢ (a)

Economic Cost=% 90000 +3 50000 =T 140000

Economic Revenye = 7120000

Economic loss = Z 140000 — ¥ 120000 = 20000
Ans. 97 (d)

300 + 240 = 540

Hours of
Labour

Total
OQutput

Marginal
Product

1 300 300 ,u
| 2 540 (300 + 240) 240 ,
s 1

3 720 180 (720 — 540) |

Ans. 98 (d)
720 - 540 = 180

Ans. 99 (b)
All the cost curves are U- shaped except the
average fixed cost curve. F ixed cost is constant,
but with the every increase in output, average
fixed cost decreases. Thus, it assumes the
shape of hyperbola.

100 (c)

Fixed costs are the costs which are not related
with the level of production whereas variable
costs are directly related with the level of
production. Here, the depreciation nrwnm.ma on
machinery remains same for years until and
unless additions to machinery are made.



